H244EE 2B T IVARS

Ta=T 12T 12\ 21 A ( fiEga—M~40B&MHH )
10A3A(E) AR @ 1, 2139:10, #11%9:50 1EyhvyTF (BITR)
A7 ayy K 4 |1 ESZB} (2 KKHEIS (3 MHAHEE |4 BEARE
K 4 Gin "y'azy FrI2 IR JRa— JRa—>
1P B 5w ©®—2 4—6 ®—0
2 KA EHB FrIR IR 2—06 3—6 ®—1
3 KA BAE Er— ©®—4 ©®—3 ®—1
4 TaA FoE Jha—y 0—6 1—6 1—6
B7my s K 4 (1 WERE (2 fFESEs [3 B # (4 i
K 4 g =S B az7 JRa—> F=72
1 FRE WS JEr—y 3—6 ©—4 1—6
2 E5 Y B 2y ®—3 ®—0 2—6
3 /N B JhE—y 4—06 0—6 0—6
4 /R FE: =72 —1 ®—2 ®—0
(O a=37/4 K 4 1 W |2 CHEK (3 K@ |4 ERE
K 4 Bi:] JRa— HOAFE JEa— By a7
1 EF i Jha—y 3—6 ®—1 4—6
2 ZH 'K oY oV Ve ®—3 ®—2 4—6
3 REF 1% =0 1—6 2—6 0—6
4 g 7 a7 ©—4 ©—4 ©®—0
DRI R (45 147) K 4 1 AAREE (2 /st |30 & A 3
K 4 B & JRa— +=7"02 IELY mE T i
1 AA B JRe— ®—3 ®—0 1
2 IR Bt +=7v2 3—6 ®—0 2
3 Rk AU B =T 0—6 0—6 3

B 0L, 27, 30

JEASE

JEASE

JEASE



